Summative Assessment


Name:  ________________________________	Date:  _________________________________




Eleanor and Billie make 752 brownies then give them to their 9 friends to share.  How many will they have left over?   What impact did the remainder have on this answer?






There are five children who each want puppies.  The puppy breeders had 22 puppies.  The children have agreed to share the puppies equally.  What is the largest number of puppies each child could get?  What impact did the remainder have on this answer?







Nicole has 122 books to put on shelves.  She decides to put 15 books on a shelf as often as she can.  How many shelves does she need to hold all of the books?  What is the treatment of the remainder in this situation?
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Four children helped Mr. Johnson clean his garage.  Mr. Johnson has $18 that he is going to share equally between all four children.  How much will each child get?  What is the treatment of the remainder in the situation?
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